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5. Find the inverse of both A = 
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7. Find the inverse of the following matrix, if it
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8. Find the inverse of the following matrix, if it
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10. Compare the quantity in Column A and the
quantity in Column B.
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A does not have an inverse.  B has an inverse.
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[A] The quantity in Column A is greater.

[B] The quantity in Column B is greater.

[C] The two quantities are equal.

[D] The relationship cannot be determined on
the basis of the information supplied.



Precalculus Practice A.REI.C.9: Matrices
www.jmap.org

[1] D

[2] D

[3]

1

43

4 7

9 5

–

–

L
NM
O
QP

[4] A

[5]

0
2

15
2

5

1

6


L

N

MMM

O

Q

PPP

[6] B

[7] B

[8]

5 2 2

2 1 0

0 0 1

–

– –

L

N
MMM

O

Q
PPP

[9]

1

3

20 2 7

4 1 2

5 1 1

– –

–

–


L

N
MMM

O

Q
PPP

[10] D


